EARAROBEEIERT — 2 N— IBISH —F

20165108310 (RA) 16@EZHE1H

mﬂﬁ 344 4 Y5R3IK B R
[AE£] 1% :230,000” ~ 2%&:46,000” ~ 337%&:23,000 ™ . 43&:14,000 " 53 :9,000 0
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N HNAEIE— :31. —-8-7- . — N (BHE)
1 37U it 3 s 1(3_1)7 8-8-7-5 | 38.4 3 :1+150) mmé—
L:ZYrT bt —T7—K—FK B:L—-—Y FKRIFZ e 45035
= 1 _EBLE :31. -4-3- . = NNy (BHE)
ol7l 7| 727w 7F #H 3 e 1(/3;)7 4-4-3-3 | 39.0 1 (4_738) 7_:«
L:TZ9 084K BiANZ L YNY YA FHS
.= N RFRAIARR : —3-5-. — FOHE (BEHE)
3l1]1|&2rEART1 i3 b (11.311/.2% 3-3-5-4 | 39.0 7 (zlf; pani
L:hY/ RI47T B:RAX—7L—F A g
S 53 _O— K 4 3 | ETHE 1:32.0 1-1-1-1 | 39.4| — 2 476 | NIER (BEHE)
4 2| Z773I—HA—-FK $¢53.0 (7€) (-2) /JUH(?;%
R:Fq—TFANA B:NFIO-F HNBHES
N N N HLEFRER :32. —6-6- . — BEOE (BHE)
5 4 T4 XL 3 %0 1(;/24)1 6-6-6-7 39.1 4 (4_777) EE;D@
LY KYTYRIR BAA—bTLF L Sz UL e
= FTzE :32. =P . — e TRE (BHE)
6155 FAILINT YR 4 3 0 1(322)5 2-2-2-2 | 39.9 5 4:25)) i
LiALNTyTFIE BT/ FAF— ZH &k
e e = AT ES :33. ~7-7- . - AHREE (BHE)
1 - BEE SR R ¥ AR B M I
L:d—IWR7Y2—)b B:LTaqM—)b #HE B
. S s 3 | LB 1:33.2 5-5-4-6 | 40.4| — 6 476 | BThEEA (BEHE)
glg|g| V-t +TAX 54.0 (F74%) 45) | W) Fr—ZrEYa>
R:T—UT74=-X B4 A= TTFX BT r—L4
@ 1—F—@&BIEf
13=7r= 2,5,1,7,8,4,6,3
Aol=5r= 2,5,1,7,8,4,6,3
BEE 2,5,7,8,1,4,(3,6)
41—+ — 2,5,7,1,3,8,4,6
[ RN
B OB 3 590H 714K 3-7 220M B E 3-7 560M &R 1-3-7 41,1204
8 B 3 220M 1-3 5,600 B H 3-7 2,180 K31 == 170,800M
7 120M 1-7 6,520
1 2,780M

ABICOVWTRDTEEERROODE. TR LIV,




